PreCalc ACC ’18-19 Numes _ Setoruy Ko
Spring Final 3
Calculator allowed throughout. score

Show all work. Round to 3 decimals.

L. Find the following derivatives:
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2 Find the end behavior of each of the following functions. Show the limits
that lead to your conclusions.
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You must do problems #3, #4, and #5.

3.

Find domain and zeros of f(x) =—x*+6x?-8 on x€ [—1 .5, 3].
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4,  Find the extreme points of f(x)=—x4+6x2—8 on xe[-1.5,3]. Show the

algebraic work to support the critical values.
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Find the Point of Inflection for f(x) =—x*+6x2—-8.on x¢ |:—1 3 3:|. Show

the algebraic work to support the result.
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You may skip either # 6 and #7, or #8 and #9, or #10 and #11.
6.  Find domain and zeros of y=(4x*—16x)e ",
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7.  Find the extreme points of y=(4x*—16x)e™***. Show the algebraic work to

support the critical values.
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8.  Find domain, VAs, and zeros of y= In(—x3 —6x2+5x+ 30) on xe [-—7, 5].
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9. Find the extreme points of y= ln(—x3 —6x2+5x+ 30) on x e [“7, 5]. Show

the algebraic work to support the critical values.
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10. Find domain, VAs, and zeros of y=—
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11.  Find the extreme points of y=- ;26—_:“4 . Show the algebraic work to

support the critical values.
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You must do #12.
12.  Show the sign patterns for f(x), f’(x) , and f’(x) f’(x), where

f(x)=—x4+6x2—8 on xe[—l.S, 3:|

Then sketch f (x) .
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You may skip either #13, #14, or #15.
13.  Find the traits and sketch of y = (4x*—16x)e™*>",
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14.  Find the traits and sketch y= ln(-—x3 —6x2+5x+ 30) on x € [—7, 5:|.
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15.  Find the Traits and sketch ofy=—,}126—x .
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